Top Ten Topics

N ACCESS MATHS

/Explress 245 as a product of prime %Fac“mrg
in the form 22 x 3 x 5¢ x 74. What are the
values a, b, ¢ and d?
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a) What is the nth term?
b) Which pattern will have 46 dots?
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ﬁ] alarms go off at 7:a0am. One rings every 3 minutes mm
the other rings every B minutes. When will they both ring at

the same time?
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( Estimate the area of the shaded \
section.
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\_10.51cm

Caleculate the area of the shaded
secetion. M is the midpoint of line AB.
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\ / Find the valueof aand b \

3.7

\_ J

www.accessmaths.co.uk

\_

G)Express the
perimeter in terms
of b and c.
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b) If the perimeter

is42cm. Find the
value of b when ¢ = 2.
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a) (2x - 5)2

Factorise:
b) (622 + 24z)

\_ Y,
/" Solve: 6x +3=10x =5

Expand:

6a A1
4a\+ 13 3a£
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